
𝑥𝑦 = 6 𝑥𝑦 = 4 

𝑦 =
2

𝑥
 𝑥 =

1

𝑦
 

𝑝𝑒𝑟𝑖𝑜𝑑𝑒 = 4 
𝑒𝑣𝑒𝑛𝑤𝑖𝑐ℎ𝑡𝑠𝑠𝑡𝑎𝑛𝑑 = 3 

𝑎𝑚𝑝𝑙𝑖𝑡𝑢𝑑𝑒 = 2 

𝑝𝑒𝑟𝑖𝑜𝑑𝑒 = 4 
𝑒𝑣𝑒𝑛𝑤𝑖𝑐ℎ𝑡𝑠𝑠𝑡𝑎𝑛𝑑 = 2 

𝑎𝑚𝑝𝑙𝑖𝑡𝑢𝑑𝑒 = 1 

𝑝𝑒𝑟𝑖𝑜𝑑𝑒 = 2 
𝑒𝑣𝑒𝑛𝑤𝑖𝑐ℎ𝑡𝑠𝑠𝑡𝑎𝑛𝑑 = 1 

𝑎𝑚𝑝𝑙𝑖𝑡𝑢𝑑𝑒 = 2 

𝑝𝑒𝑟𝑖𝑜𝑑𝑒 = 8 
𝑒𝑣𝑒𝑛𝑤𝑖𝑐ℎ𝑡𝑠𝑠𝑡𝑎𝑛𝑑 = 3 

𝑎𝑚𝑝𝑙𝑖𝑡𝑢𝑑𝑒 = 2 



E2 E1 

E4 E3 

F2 F1 

F4 F3 



 
x -2 -1 0 1 2 
y -3 -6 b.n. 6 3 

 

b.n.: bestaat niet 

 
x -2 -1 0 1 2 
y -2 -4 b.n. 4 2 

 

b.n.: bestaat niet 

 
x -2 -1 0 1 2 
y -1 -2 b.n. 2 1 

 

b.n.: bestaat niet 

 
x -2 -1 0 1 2 
y − 

1

2
 -1 b.n. 1 1

2
 

 

b.n.: bestaat niet 

x -2 -1 0 1 2 
y 3 1 3 5 3 

 

x -2 -1 0 1 2 
y 3 2 1 2 3 

 

x -2 -1 0 1 2 
y 1 1 1 1 1 

 

 
x -2 -1 0 1 2 
y 5 3,7* 3 2,3* 1 

 

*exact: 3 + 1

2
√2 en 3 − 1

2
√2 



E2 E1 

E4 E3 

F2 F1 

F4 F3 



  

  

  

  



E2 E1 

E4 E3 

F2 F1 

F4 F3 


